B EHE  RERR R O S R B B E ORI A R BOBREICOVT R
e L LA s L s IERRIER o /:%L% 45% 2 5k ZEEB;&%L% 45% 2 5k o ?ﬁb‘% 1k 2 2i% R
1 |BREFT FANL |HORBRER-FACEHIX | V)R~ SARET 90 90 55| 18| 18| 19| 35 8| 12| 15
2 |tREFT AL R BRER - EARCEHX | 2D IORERTFE AR 90 90 700 23| 23| 24| 20 3 5| 12
3 |REFT FASE | BEEAR - HOR X ORI 99 99 60| 20| 20| 20| 39 9| 15| 15
4 |PRERHT FASE | BEEAR - HAR - HIX JIHELLRER 76 76 52| 16| 18| 18] 24 31 10| 11
5 |tREFT FASE |k R E A HIX | KID'S ONE JI| AfRE R 50 50 33| 11| 11| 11} 17 0 6| 11
6 |tREFT FASE | -BREAR - HA X | v XTUR)I 04 LT 52 52 30| 10| 10| 10] 22 6 8 8
7 \REFT IR EE | B AR - H R X W AR Bl 90 90 55| 18| 18| 19| 35 8| 12| 15
8 |PRBEHT FASE | AR« R - 221 T HI X ICTIREBEFN A FEH 70 70 46| 15| 15| 16] 24 6 8| 10
9 |PRERT AL (P TR - W A X WHEZUONUEBE 60 60 33| 11| 11| 11]| 27 6 10| 11
10 |PREFT FLNT  [FEE TR A A HE X N E R 78 78 45| 15| 15| 15) 33 9| 12| 12
11 |REFT AL P TR - M A HiL X TEHED — 2R E 80 80 48| 16| 16| 16] 32 8| 12| 12
1 [/MRBREFEAR | TN |- BER - H AR 2 HI X TARE R 19 19 19 3 8 8 |RERBEEL YBIT
2 IEBRRE FEAR BT [TPR-ARER-H AR HX EHWER B 19 19 19 4 7 8 |RERER& YBIT
3 IBURIREFEAR | BSL [PRGBER-ER-EHX | REFTEST)IOE R 19 19 19 3 8 8 |REREE&L UBT
4 INBBREREEAM | BN |- RER- H A S X 55— BRI 19 19 19 5 7 7
5 |/NBURIREFEBAL | FL [PRGBER-EAR-EHX | O—AT<LENeoH: 2 12 12 12 3 4 5 |REREELYBIT
6 |/NEURIREFEBARL | FAL [PRBERHEAREHIX | 72O IORE R R EAEE 19 19 19 3 8 8
7T IR EFEBM | FANL RS M A X [ONEVID)5| 15 15 15 3 6 6
8 |/NBUREFEBI | N |- B X 1R-E /L — LFelicelB 43 5 19 19 19 6 6 7
9 VAR EFEBRR | FANE |FE T HTS E AS HX PEDTEF — TV —FarG 45— 212 15 15 15 3 6 6
991 991 0 0 0 0 527 | 173 | 175| 179 464| 99| 170| 195




BEHE REHR L R EHIRARTEROFHER . FROEEIZONT

; R . B 1 5587E 25 RE 3ERE
i ¢ KE R AR A Biicei MEF% 4 R ER (FAER

P i i 3RIT AT SRl 38 [4m R 5 ORI 18
AL 80 80 54| 18] 18| 18] 26 0 12
PREFT (LEE) INST | R AR R S HX ENUESS =TT IS 90 90 571 19| 19| 19| 33 9 12
B 7 10 10 3 1 1 1 7 9 0
AL 6 6 2 2
IR R AT FLNE | FRAR - TR - AT HIX OFEDY[H B 8 8 8 2 3
EEE 2 2 0 1
25T 19 19 19 3 8
IR R AT FLST | FRAR - TR - AT HIXK WO ERATZ SRR ER | £H% 19 19 19 5 6
EBE 0 0 0 2| A2
25T 15 15 15 3 6
/NIRRT B FLSE | BEEAR - A 2 X HPHIEER PABY 12 12 12 1 5
EEE A3 A3 A3 A2 A1
25T 16 16 16 4 5
/NIRRT B FLSE |- BEEAR - A 2 MK ~UREE EH % 18 18 18 6 6
57 2 2 2 1

25 S i 11 11 11 3
INRBUR B F BT FLSE | P B M A X Kid’s Patio L& AR 17 17 17 3 7
B 7 6 6 6 0 3
IR FEBR AL 15 15 15 3 6
! FLST | FPAR - TR - AT HIX FH2O0FEDVE B 19 19 19 3 8
IR AN E B 7 4 4 4 0 2
IR AN AL 19 19 19 3 8
l FAST | AR - AR S HIX FWIOHRERZFHE | AEHE 19 19 19 3 8
IR FEEBR E B 7 0 0 0 0 0
IR AN AL 18 18 18 3 7
! FLST | FPAR - TR - AT HIX WIS R E R 5 A PABY 19 19 19 3 8
IR FEEBR E B 1 1 1 0 1
25 S i 199 199 54| 18| 18| 18| 145| 24| 58
B 221 221 57 19 19 19| 164 35| 63
L= 22 22 3 1 1 1l 19 11 5




YRR 294 A i B BRUE R

sl Ha sz a el P 2RI IR
3kl 4% 5 3k 4l 5RelR Om il 1skIE 2kl
e B AR - AR - & M X 7 557 557 358 117 119 122|199 46 68 85
BT FRAR « R « 224 T HiL X 1 70 70 46 15 15 16 24 6 8 10
T 22 < ST - W 2 4 i X 3 218 218 126 42 42 42 92 23 34 35
11 845 845 530 174 176 180 315 75 1100 130
e B AR - AR - & M X 3 57 57 57 12 22 23
ANEUBLOR B AT | fAR - P R - 22 THILX 0 3 3 3 2 0 1
T 22« BT - W2 A i X 0 0 0 0 0 0 0
3 60 60 0 0 0 0 60 14 22 24
e B AR - AR - & M X 3 49 49 49 9 20 20
AINBUE IR B HE B | iR R - R THIX 0 4 4 4 0 2 2
T 22« BT - W 2 A i X 3 55 55 55 12 21 22
6 108 108 0 0 0 of 108 21 43 44
20| 1,013 1,013 530 174 176 180 483 110 175 198
k294 H BB A
il o sl | nmen| P 2RI IR
3kl 4% 5 3t Al iR Om il 1kl 2kl
e B AR - AR - & M X 44| 3,778 | 3,778 2,481 747 857  877| 1,297 213 483 601
RBFT FRARL « R « 224 T Hit X 24| 2,140 | 2,140 1,393 444 466 483 | 747 129 281 337
T 22« ST - W 2 4 i X 31 2,424 | 2,424 1,547 461 531 555 | 877 160 322 395
99 | 8,342 | 8,342 5,421 1,652 1,854 1,915 2,921 502 1,086 1,333
e B AR - AR - & M X 9 164 164 164 31 66 67
ANBUBLOR B AT | fAR - P R - 22 THIX 7 106 106 106 22 41 43
T 22« BT - W 2 A i X 2 31 31 31 5 13 13
18 301 301 301 58 120 123
e B AR - AR - & M X 12 206 206 206 38 82 86
AINBUE IR B FE B | iR R - R THIX 9 144 144 144 31 56 57
T 22 = BT - W2 4 i X 7 102 102 102 23 39 40
28 452 452 452 92 177 183
145 9,095 9,095 5,421 1,652 1,854 1,915| 3,674 652 1,383 1,639




